
WZORY

1. Pochodne funkcji elementarnych:

(a) (c)′ = 0;

(b) (xα)′ = αxα−1 dla α ∈ R
(c) (sinx)′ = cosx;

(d) (cosx)′ = − sinx;

(e) (tg x)′ = 1
cos2 x ;

(f) (ctg x)′ = − 1
sin2 x

;

(g) (ax)′ = ax ln a, (ex)′ = ex;

(h) (loga x)
′ = 1

x ln a , (lnx)
′ = 1

x ;

(i) (arcsinx)′ = 1√
1−x2 ;

(j) (arccosx)′ = − 1√
1−x2 ;

(k) (arctg x)′ = 1
1+x2 ;

(l) (arcctg x)′ = − 1
1+x2 .

2. Reguªy ró»niczkowania:

(a) (f(x)± g(x))′ = f ′(x)± g′(x);
(b) (c · f(x))′ = c · f ′(x);
(c) (f(x) · g(x))′ = f ′(x) · g(x) + f(x) · g′(x);

(d)
(
f
g

)′
(x) = f ′(x)·g(x)−f(x)·g′(x)

[g(x)]2 , o ile g(x) 6= 0;

(e) (g(f(x)))′ = g′(f(x)) · f ′(x).

3. Caªki z funkcji elementarnych:

(a)
∫
0dx = C,

(b)
∫
xαdx = 1

α+1x
α+1 + C dla α 6= −1,

(c)
∫

dx
x = ln |x|+ C,

(d)
∫
exdx = ex + C,

(e)
∫
axdx = ax

ln a + C dla 0 < a 6= 1,

(f)
∫
sinxdx = − cosx+ C,

(g)
∫
cosxdx = sinx+ C,

(h)
∫

dx
sin2 x

= − ctg x+ C,

(i)
∫

dx
cos2 x = tg x+ C,

(j)
∫

dx
1+x2 = arctg x+ C,

(k)
∫

dx√
1−x2 = arcsinx+ C,

(l)
∫ f ′(x)

f(x) dx = ln |f(x)|+ C.

4. Wzór na caªkowanie przez cz�e±ci∫
f(x)g′(x)dx = f(x)g(x)−

∫
f ′(x)g(x)dx.
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